
Name: ______________                           Primary 5-a-day                                  Gold 

© Corbettmaths 2017 www.corbettmaths.com 

26th February  

  
A cake weighs 600g. 
40% of the cake is sugar. 
 
Work out how many grams of sugar are in 
the cake.  

Write down three odd square numbers 
 
 
 

 

 

Oscar spent 
!
!
 of his pocket money on a 

ticket for a rugby match. 
 

He spent 
!
!
 of his pocket money on a scarf 

What fraction of his pocket money has 
Oscar spent? 

7 − 1.25− 1.8 55 × 44 


